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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) The question paper comprises three Sections, A, B and C. There are 30

questions in the question paper. All questions are compulsory.

(it) Section A — all questions / or parts (question no. 1 to 14) thereof in this
section are one mark questions comprising MCQ, VSA type and
Assertion—-Reason type questions. They are to be answered in one word

or in one senience.

(iti) Section B — question no. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C — question no. 25 to 30 are long answer type questions,

carryving 5§ marks each. Answer to these questions should not exceed 80 to
90 words.

(v) Answer should be brief and to the point. Also the above mentioned word

limit be adhered to as far as possible.

(vi) There is no overall choice in the question paper. However, an internal
choice has been prouvided in some questions in each section. Only one of

the choices in such questions have to be attempted.

(vit) In addition to this, separate instructions are given with each section and

question, wherever necessary.

Section — A
1. How are covalent bonds formed ? 1
2. Define electropositivity. 1
OR
31/3/1. E' = 3 P.T.O.
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& T o el o1 aeA] frnd e s #
U THg kA O] B (pm)

Na 86
K 231
Rb 244
Cs 282
ITerd ddl| H fe@s & aretl 38 aft o1 Rt fafae | 1

3. U & 3(a) W 3(d) % I - Tgu MU TR IR HEyd U M HehedisTi i
AT & IR T T :
ferdl s wRa &1 qo9 iy Ha1 91 8 3TN HER % 994 S 991 4 9 U @ | fead
qfY % JARM H1 G 4.0 km?® TUT 391 T &% 52 km? & | 91 ST
foas, rnfereRtati s Sfdt Smafd aem 1000 MW STafagd 3= i | fohan ST @ |
fegdt Aty folig 1 faw @1 8 | J9eT afsramael 3 §at o Sig7om + 1980 § 2014
T featt =iu % forlg 4 TiaeH 1 gcd [T | 98 Toig w@dl & T & foedmm
AT golel TTRAA ohl TATeRU( A3l o Icq=1 BIH o R0 9T | 36 &5 % 1,00,000 ¥
Hi4es TTATT 3 A [TATH o ATUBR b TeTq GeehieiE Bl et wgl, Fiaeh S 39
RS TEH H Gl g3 |

(a) S fohe FehTe ST T Tl & 7 1

(b) 1 MW 3t afam fafgu | 1

(o) fead atu s frmfor & gF arch 31 wifi =1 oo Hifsm | 1

(d) 12 T S SATS U Tl eLaTe ol Tgfedi W iR srar 8 7 1
3U3/1. | EER 1
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The atomic radii of first group elements are given below :

Group-I element Atomic Radii (pm)
Na 86
K 231
Rb 244
Cs 282
State the reason behind the observed trend in the above elements. 1

3.  Answer question numbers 3(a) to 3(d) on the basis of your understanding

of the following paragraph and the related studies concepts.

The Tehri dam is the highest dam in India and one of the highest in the
World. The Tehri dam withholds a reservoir of capacity 4.0 km?® and
surface area 52 km?2. It is used for irrigation, municipal water supply and
the generation of 1000 MW of hydro electricity.

The Tehri Dam has been the object of protests. Environment activist Shri
Sunder Lal Bahuguna led the “Anti Tehri Dam Movement” from 1980s to
2014. The protest was against the displacement of town inhabitants and
environmental consequences of the weak ecosystem. The relocation of
more than 1,00,000 people from the area has led to protracted legal
battles over resettlement rights and ultimately resulted in the delayed

completion of the project.

(a) How is hydropower harnessed ? 1
(b) Define 1 MW. 1
(¢) Mention two disadvantages of constructing Tehri Dam. 1

(d) What happens when water from great heights is made to fall on
blades of turbine ? 1

31/3/1. E' 0 5 P.T.O.
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4. YT HEA 4(a) W 4(d) = € 7 qiferent W 3 2 | 39 difetent § afgenai & yriias
3IEIUe B (TSH) o T feu T & | 39ehT LTI hish 1 T T8 w1 o 3w = feu
T 3TTeRE 3R Hated I T Tehea13T] hl SIT&T o SATYR W i |

Y UiER W (mU/L) = mU/L)
18 —29 99 0.4 —2.34 mU/L < 0.4 mU/L
30 — 49 99 0.4 — 4.0 mU/L <0.4 mU/L

50 — 79 a9 0.46 — 4.68 mU/L < 0.46 mU/L
YPRITE IETeh BIHH o1 T I g =i feifa o afzamd e o 0=, frgy =1 5
< | T Tt o feafa o s1ra wme sifes sifew 4 it 8 | e Ts ot §
5% TiEeTd $© TR ! GTa0Es 6! quensil § difegd & Sefes s7eh! qom1 o qoi i
SlRrad 3% & | 39 g o aH 9 {1 TSH 1 35 &R AT9eh &6F Wi o @l | g T
AT R, 2013 o 31299 H 3= TSH 3R ed Wi H IS Tag & IR 131 | 9 2017 %
N G g a7 fob fersiwent aaferes 31y <Y wfgenati ® urRige st % @y TSH
T T I B W YIS HH & 1 Tl 2rar g |

(a) 35 a i ferell Afge o1 TSH &R 6.03 mU/L 2 | 38 &1 &1 forifa & & fag

IY U HiSH 8 o7 IiEad T 918T ?
(b) HfgeTd e 3T TSH T % 3fteh Hehd I Hadl & 7
(¢) T TSH =X & UfuTH 1 Ieord Hifad |

(d) oTRigE Uiy g Efad g o el o foTu ITgrh @it 1 = fafEy |

T

5. Y SETeal W3S 1@ AT 1 AR Tl Tdid Bral & Fifeh J&Id:
(a) SO ST SaTedi T SRR b1 9T ehiv 4l 21T 2 |
(b) 3 SHaTSAT W ATgHSA el BT 2 |
(¢)  STUI3TI T TS G ThTI ! AUTCeA | HTH BRI AT 2 |
(d) wepre el 1 TR FehifvTd &1 ST 2 | 1

6. TS 7 IR TSGR TR A’ % fhHl SeMEhR FTeieh &l Sfaig R’ & | 99
Hferre 3TR UM ugrRl o 2] SIS aTet fohet 3171 FTeTeh oh1 STIITIhIC &t fehaHT BHTT ?
A

(a) E

3A
(b) -
© 2A

@ 3A 1
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4.  Questions numbers 4(a) to 4(d) are based on table given below. Study the
table in which the levels of Thyroid Stimulating Hormone (TSH) in
women are given and answer the questions that follow on the basis of
understanding of the following paragraph and the related studied

concepts.
Age Range Normal (imU/L) Low (mU/L)
18 — 29 years 0.4 —2.34 mU/L <0.4 mU/L
30 — 49 years 0.4—-4.0mU/L <0.4mU/L

50 — 79 years 0.46 — 4.68 mU/L < 0.46 mU/L

Women are at greater risk for developing abnormal TSH levels during
menstruation, while giving birth and after going through menopause.
Around 5% of women in the United States have some kind of thyroid
problem compared to 3% of men. Despite claims that high TSH increases
your risk for heart disease, a 2013 study found no link between high TSH
and heart diseases. But a 2017 study showed that older women are
especially at risk for developing thyroid cancer if they have high TSH
levels along with thyroid nodules.

(a) A 35 year old woman has TSH level 6.03 mU/L. What change should

she bring in her diet to control this level ? 1
(b) When do women face a greater risk of abnormal TSH level ? 1
(c) State the consequence of low TSH level. 1
(d) Name the mineral that is responsible for synthesis of hormone

secreted by thyroid gland. 1

5. The sky appears dark to passengers flying at very high altitudes mainly
because :
(a) Scattering of light is not enough at such heights.
(b) Thereis no atmosphere at great heights.
(¢) The size of molecules is smaller than the wavelength of visible light.
(d) The light gets scattered towards the earth. 1

6. A cylindrical conductor of length ‘I' and uniform area of cross section ‘A’
has resistance ‘R’. The area of cross section of another conductor of same
material and same resistance but of length 27’ is

A
(a) E
3A
) -
© 2A
@ 3A 1
31/3/1. E"E' 7 P.T.O.
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7. wgﬁﬁmﬁ,ﬁlﬁmwuﬁﬁuégé,aﬂwwmaﬁwgﬁﬁum
ferr a8 ?
(a) 2Q

by 1Q
(¢ 25HQ
d 8Q 1

8. i T TuEw hil YREAes sqeT 1 AR fea war 2 | i feun wan o 1 ue 5|
ygfa s frequ st @ 7

«—A

o

(a) I8 @ifed Tgfd o1 371es sgawuToH 2 forad A = 5ot 9U8w 83 B = @i & a1

C=3UTHI? |

(b) & U R TG I I T 2 Todd A = o1 Tew &7, B = @ &4
@TC =TT g |

() I8 Il TUEY &7 1 Ay Ha=H & foad A = @ifed, B = @R &9 a1
C=3UTHIE |

(d) I8ER & I Tl g o A = Tl QU &7, B=@ifciaui C =3yenFaa | 1

AU
1 H Ueh &l YhR o F&1 ol I hl TlshaT 1 THE gSIHTT
(a) Stafafawdr 9= TEdr 8 ST AgMemTT 1 |1 Hid 2 |

(b) T HaETaEl W ud & Tehl e STawaehdisti i 9fd 39 YehR o o1 § 81 &l
e |

() I WISATZ |
() sAfoIm RIS | 1

3131, | Bes 8
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7. The maximum resistance which can be made using four resistors each of

. 1 .
resistance E Q1s

(a)
(b)
©
GV

2Q
1Q
25Q
8 Q 1

8. A diagram of traditional water harvesting system is given below :

The statement which defines the system and its parts is

(a)

(b)

(©

GV

«—A

o3

This is an ideal setting of the Khadin system and A = Catchment
area; B = Saline area & C = Shallow dugwell

This is an ideal setting of the Shallow dugwell system and A
Catchment area; B = Saline area and C = Khadin

This is an ideal setting of Catchement area and A = Khadin, B
Saline area and C = Shallow dugwell

This is showing Saline area and A = Catchment area; B = Khadin

and C = Shallow dugwell 1
OR

The major ill effect of mono culture practice in forests is on the

(a)
(b)

©
CY

S1/3/1.

biodiversity which faces large destruction

local people whose basic needs can no longer be met from such
forests

industries

forest department 1

9 P.T.O.
=
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9.  31¥eh SRR AU AUFISST b1 &1 Afedt A 3R B # Yanted &2 @ off | 37 gF Afeai 9
T o THAI ST Tl AT | 707 Shid T G AT 7T Toh AIG1 A 1 S AT o1 Siaieh g1
B o1 STt IR 97 | A 797 B o Triehe fevra harefar € —
(a) A friehe BT 3R 3TqTSTeR] ! 7T B & fehe Y0 S i i |
(b) B = friehe BT 3R 3TqUTSIeR] i TUT A & fehe IUE-H @M 1 |
(¢) A frene ot daTeis sl famior st qeun B o6 fere |Te 37 3T9mTsTehi < |
(d) B fehe ol dameis sl fmior shi qum A <6 fehe ST 37 3T9HTShi i | 1

10. Fr=faRaa | & Toras ga derel i gga™ aRafad T8l sl g ?
(a) QY S T
(b) Torteem gfsran g foreatt &1 a1
(¢) i1 fepueH
(d) HSH HIEH 1

11. T e faeed ‘A’ SRicwdfe faea &1 Tams] o ¢l & | foema ‘A’ 4 Tl 3=
et faeram ‘B’ w1 et W sl @1 oo &1 ofran 2 | faeremn ‘A’ 3R B & fau sim
HHITHI R ?

(a) A VS T g 91 B gt R 2 |

(b) A VA AT 2 T B oA A2 |

(0 ARIpH7 ARG IAIBHIpH 7T HAHAR |

(d AsIpH7asaaur BwipH 7 9 314 & | 1

12. 5 ad X ITAE STRATEE ST & | SYh TTad qRof H 36 a<d bl &t el
(a) 9Hg 1T 3Ed 3|
(b) THE 2 qUT AEd 3 H
(¢ §9g 13 a9137Ed 3 H
(d) §9E 16 991 37Ed 3 H 1
e
aw X ford wretai 1 g 13 7, & R # 9= feu e syai w famm it
(A) 8 IFYHT JTTHTSE TR |
B) FEhI TANHATS 7 |
(C) 38 FANES 1 GA XCI, 3 |
T HE HYA &
(@) e (A)
(b) e (B)
© (&) 3RO
@ (A, B AR (©) 1
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9. Several factories were pouring their wastes in rivers A and B. Water
samples were collected from these two rivers. It was observed that sample
collected from river A was acidic while that of river B was basic. The
factories located near A and B are
(a) Soaps and detergents factories near A and alcohol distillery near B.

(b) Soaps and detergents factories near B and alcohol distillery near A.

(¢) Lead storage battery manufacturing factories near A and soaps and
detergents factories near B.

(d) Lead storage battery manufacturing factories near B and soaps and
detergents factories near A. 1

10. In which of the following, the identity of initial substance remains
unchanged ?
(a) Curdling of milk
(b) Formation of crystals by process of crystallisation
(¢) Fermentation of grapes
(d) Digestion of food 1

11. An aqueous solution ‘A’ turns phenolphthalein solution pink. On addition
of an aqueous solution ‘B’ to ‘A’, the pink colour disappears. The following
statement is true for solution ‘A’ and ‘B’.
(a) A1s strongly basic and B is a weak base.
(b) A1is strongly acidic and B is a weak acid.
(¢) AhaspH greater than 7 and B has pH less than 7.
(d) AhaspH less than 7 and B has pH greater than 7. 1

12. An element X' is forming an acidic oxide. Its position in modern periodic
table will be
(a) Group 1 and Period 3
(b) Group 2 and Period 3
(¢) Group 13 and Period 3

(d) Group 16 and Period 3 1
OR

Consider the following statements about an element ‘X’ with number of

protons 13.

(A) It forms amphoteric oxide
(B) Its valency is three
(C) The formula of its chloride is XCl,

The correct statements(s) is/are

(a) only (A)

(b) only (B)

(© (A and (C)

(d) (A, (B) and (C) 1

31/3/1. E' 0 11 P.T.O.
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Ae: T HEAT 13 31 14 % ferw & o few o & form uen o1 sifieher (A) qem gt
T SR (R) gRT 3ifehd foham 7o 8 | 34 91 & @&l It 4R feu T +iEl (a),
(b), (¢) 3R (d) H | FFHL ST |

@) (A) 3R (R) T T & 7T (R) Afrehe 1w e 2 |
(b)  (A) IR (R) SHI H&l 8 T (R) YT h1 Tl AT TE 2 |
© (A @& B9 (R) TTeid € |
@ (A)TTEa R g R) WER |

13. &fwseE (A) : CH,OH, CH,CH,OH @1 CH,CH,CH,OH |esiTd it & Hee
g1

&R (R) : Afirepi 1 W e, f5as JHq gehrEicnss 998 gidi 8 7 U —CH, —
SohTS 1 X Bidl 8, THSIA S07 shgerrdl & | 1

14. S9wYa (A) : Taga s 3R g S foaga am gfaaal & amr=a: fHengst &1
ITART TRl ST 3 |

HROT (R) : foredt fierg <t wfcrieshar 3Teht s7arelt aTqeni @ amwa:  31faeh 8l 8
Teg THTq 3t o1 STaFEt aTq3ti bl gerT § T4 T gt & | 1

wWE -4

15. ferars & omel @1 4 819 el e o1 Sooi® 10T Hfgd hifse sefeh
() Tocet FANTEe 1 gd % YoM § Yol T A 2 |
(i)  3TaRdTo <t IUTRTT § 1o o 0T b1 Tefeyeh TH foha ST 2 |

(iii) IR Tk faeram 4 feh 1 gohel Frmn Smar 2 | 3
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Note : For question numbers 13 and 14, two statements are given-one
labelled Assertion (A) and the other labelled Reason (R). Select
the correct answer to these questions from the codes (a), (b), (¢
and (d) as given below :

(a) Both (A) and (R) are true and (R) is correct explanation of the
assertion.

(b) Both (A) and (R) are true but (R) is not the correct explanation of the
assertion.

(¢) (A)is true but (R) is false.
(d) (A)is false but (R) is true.

13. Assertion (A) : Following are the members of a homologous series :

CH,OH, CH,CH,OH, CH,CH,CH,0H

Reason (R) : A series of compounds with same functional group but
differing by — CH, — unit is called a homologous series. 1

14. Assertion (A) : Alloys are commonly used in electrical heating devices
like electric iron and heater.

Reason (R) : Resistivity of an alloy is generally higher than that of its
constituent metals but the alloys have low melting points then their
constituent metals. 1

Section - B

15. Mention with reason the colour changes observed when :
(1) silver chloride is exposed to sunlight.

(1) copper powder is strongly heated in the presence of oxygen.

(1) a piece of zinc is dropped in copper sulphate solution. 3
313/, | EER 13 P.T.O.
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16. == feu T TEmafes qefieRtui sl g0 3R Hdferd Hifg -

@) NaOH,, +Zn, -

(i) CaCOyy +Hy0y +COH —

(i) HCl,y +H,04 > 3
g

AU A (STS) o Togd 3796 & 90 THIS W fs 19 ‘G go gl & | 9 38919 ‘&

%1 931 U I § Yafad feran STt 2, 1 18 e ‘O sar & et Sw 9 % ST i

a3l & gor i o fete fRpn sman 2 |

() G 3R C %y araT |

(i) B arelt SAfafsha 1wt fafau |

(iii) TR ‘C T AHRT T T8 ? FHbI THAh A TRy | 3

17. e fegmudm o A, B 31 C & 3T ol AT Hifw |

W | O TR | U] §eHE
Li 7
A Na 23
K 39
N 14
B P 31
As 74
B 10.8
C Al 27
Ga 69.7

() fewmudmat A, B 3 C d @ 39 o ol g ST Sfetrs 1 freh a1 2 |

(i) Tel® A T AR I A, B 3R C % i @ = fafir= wggh (i) # == ¢

(iii) T Yeigd 1 375¢eh oM 37 A1 ST O AFL a1 2 7 37 I i gfee & fog
HIT T | 3
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16. Complete and balance the following chemical equations :

1) NaOH(aq) + Zn(s) -
(i) CaCOS(S) + H2O(l) + CO2(g) -
(1ii) HCl(aq) + HQO(l) -

OR

During electrolysis of brine, a gas ‘G’ is liberated at anode. When this gas
‘G’ is passed through slaked lime, a compound ‘C’ is formed, which is used
for disinfecting drinking water.

(1) Write formula of ‘G’ and ‘C’.
(11) State the chemical equation involved.

(111) What is common name of compound ‘C’ ? Give its chemical name.

17. Study the data of the following three categories A, B and C.
Category Name of the Atomic
element Mass
Li 7
A Na 23
K 39
N 14
B P 31
As 74
B 10.8
C Al 27
Ga 69.7
(1) From the given three categories A, B and C, pick the one which
forms Dobereiner’s Triads.
(11) Why did Mendeleev placed elements of category A, B and C in three
different groups ?
(i11) Is Newland law of octaves applicable to all the three categories ?
Give reason to justify your answer.
313/, | EER 15 P.T.O.
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18. (a) I fqu T Sl & 9qg | UH @rE @1 ST S Sl b Ga) § 7S o (0 qa8
Jferes SHRHI BT |

(b) 38 Gwiferd &1 1 Seorg Hifee <11 e ger | waeht 1 3t € e dreswmfmt Ht
SFEITAT B % ShIUT & Hehell 2 |

(¢) S S(1al 1 ST hid T e @i STt shi T HifT | 3

FAU

(a) TeTIfEeeh it S H1 ST A | TR T EH ST & G T Ieei@ ST |
AT st Aot 33U % <1 farehed gamsT |

(b) 3T F T I B ATeT ST TG o TR 3 TeTe 3T9HTT 511 5k aTed gl
Q1 3T I g §1ET | 3

19. (a) 9= 1 Afshan 4 il feu T TrseHi St ftent o1 Seoid i -
() fefem demen
(i) TEYS TSTEH
(b) ¥ | Iuferd S S8 yaef & g1 i hl Tl ST | 3
20. (a) fA=feIRaa o1 a@STTa 317 TR qHEY 37 | arfieptor iy :
(i) STplelt 3T a=AmTeft
(i) 3TeTh AR T
(i) w&f <1 3TETg 3R fouhel! i 3T
(iv) THTICS % 7@ 3T Uefi & 7@
(b) 39 YHE T hI Il hitC ST TGU 7T 3T e FTeA T afiehiu] FHSIT AU
TOEY ST U AT | 3

21. foreft feu MU &1 T 9T T S WY B GG H ST AT 8 9T U qH 91 A b T

T gg U TATTATR | 3 GHT T o S ThLoT HUATTATR |

(a) I fau TgaR 37 YevT 6l el s -
(i) 3! F, Hafd | 4 1,
(i) dfg F, Hafd o i€ <l & S0 L@l e dl F, Sdfd 3 9L o sret 916 1

BIGNGGI

(i) F,@dfdd GG AR Gg &1 317

(b) 39 THIUT I T o TR T T Tk TehTeT ST deha1 & ? 3

3131, | Ees 16
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18. (a) From the following group of organisms create a food chain which is
the most advantageous for Human beings in terms of energy.

Hawk, Rat, Cereal plant,
= Goat, Snake, Human Being

(b) State the possible disadvantage if the cereal plant is growing in soil
rich in pesticides.
(¢) Construct a food web using the organisms mentioned above. 3

OR

(a) Write two harmful effects of using plastic bags on the environment.
Suggest alternatives to the usage of plastic bags.

(b) List any two practices that can be followed to dispose off the waste
produced in our homes. 3

19. (a) State the role played by the following in the process of digestion.
(1) Enzyme trypsin
(1i) Enzyme lipase
(b) List two functions of finger like projections present in the small
intestine. 3

20. (a) Classify the following as homologous or analogous pairs :
(1) Broccoli and Cabbage
(i1) Ginger and Raddish
(1i1) Fore limbs of birds and lizard
(iv) Wings of a bat and Wings of a bird

(b) State the main feature that categorises a given pair of organs as
homologous or analogous. 3

21. A green stemmed rose plant denoted by GG and a brown stemmed rose
plant denoted by gg are allowed to undergo a cross with each other.

(a) List your observations regarding
i)  Colour of stem in their F, progeny
(i) Percentage of brown stemmed plants in F, progeny if F, plants
are self pollinated.
(iii) Ratio of GG and Gg in the F,;, progeny.

(b) Based on the findings of this cross, what conclusion can be drawn ? 3
313/, | EER 17 P.T.O.
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22. The diagram given below shows an object O and its image I.

Al
I

2

Without actually drawing the ray diagram, state the following :

®
(i)
(ii1)

Type of lens (Converging / Diverging)

Name two optical instruments where such an image is obtained.

List three characteristics of the image formed if this lens is replaced
by a concave mirror of focal length f and an object is placed at a

distance 1/2" in front of the mirror. 3

23. Give reasons for the following :

@)

(i)

(ii1)

24. (a)

(b)

(a)

(b)

S1/3/1.

There is either a convergence or a divergence of magnetic field lines
near the ends of a current carrying straight solenoid.

The current carrying solenoid when suspended freely rests along a
particular direction.

The burnt out fuse should be replaced by another fuse of identical
rating. 3
With the help of labelled ray diagram show the path followed by a
narrow beam of monochromatic light when it passes through a glass
prism.

What would happen if this beam is replaced by a narrow beam of
white light ? 3

OR

A person is suffering from both myopia and hypermetropia.

(1) What kind of lenses can correct this defect ?

(1i)) How are these lenses prepared ?

A person needs a lens of power + 3D for correcting his near vision

and —3D for correcting his distant vision. Calculate the focal lengths

of the lenses required to correct these defects. 3
o3 19 P.T.O.
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Section - C

25. Write balanced chemical equations to explain what happens, when

(1) Mercuric oxide is heated.

(11) Mixture of cuprous oxide and cuprous sulphide is heated.

(i) Aluminium is reacted with manganese dioxide.

(1v) Ferric oxide is reduced with aluminium.

(v) Zinec carbonate undergoes calcination. 5

OR

(1) By the transfer of electrons, illustrate the formation of bond in
magnesium chloride and identify the ions present in this compound.

(11) Ionic compounds are solids. Give reasons.

(111) With the help of a labelled diagram show the experimental set up of
action of steam on a metal. 5

26. (a) Compare soaps and detergents on the basis of their composition and
cleansing action in hard water.
(b) What happens when ethanol is treated with sodium metal ? State
the behaviour of ethanol in this reaction.
(¢) Draw the structure of eyclohexane.
(d) Name the following compound.

H
|
H-C-C-H
I
O H 5

27. (a) Write the correct sequence of steps followed during journey of oxygen
rich blood from lungs to various organs of human body.
(b) What happens when the system of blood vessels develop a leak ? 5

28. (a) Draw a diagram showing germination of pollen on stigma of a flower

and mark on it the following organs/parts :
(1) Pollen Grain
(i1) Pollen tube
(1i1) Stigma
(iv) Female germ cell

(b) State the significance of pollen tube.

(¢) Name the parts of flower that develop after fertilization into

1 Seed
1) Frut 5
OR
31/3/1. E' 0 21 P.T.O.
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(a)
(b)
©

29. (a)

(b)
©
CY

30. (a)

(b)

“Use of a condom is beneficial for both the sexes involved in a sexual
act.” Justify this statement giving two reasons.

How do oral contraceptive help in avoiding pregnancies ?

What is sex selective abortion ? How does it affect a healthy society ?
(State any one consequence)

For the combination of resistors shown in the following figure, find
the equivalent resistance between M & N.

R;
AAAA/ M

>

R% Rs

Ra
State Joule’s law of heating.
Why we need a 5 A fuse for an electric iron which consumes 1 kW
power at 220 V ?
Why is it impracticable to connect an electric bulb and an electric
heater in series ?

A security mirror used in a big showroom has radius of curvature 5
m. If a customer is standing at a distance of 20 m from the cash
counter, find the position, nature and size of the image formed in the
security mirror.

Neha visited a dentist in his clinic. She observed that the dentist was
holding an instrument fitted with a mirror. State the nature of this
mirror and reason for its use in the instrument used by dentist.

OR

Rishi went to a palmist to show his palm. The palmist used a special lens
for this purpose.

@
(i)

(i)

S1/3/1.

State the nature of the lens and reason for its use.

Where should the palmist place/hold the lens so as to have a real and
magnified image of an object ?

If the focal length of this lens is 10 em and the lens is held at a
distance of 5 em from the palm, use lens formula to find the position
and size of the image.
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